 EQ \b(x-1)\b(x+1)\b(x\s\up2(2)+1)=6x\s\up2(2)-1 
 EQ  
 EQ \b(x-1)\b(x+1)\b(x\s\up2(2)+1)-6x\s\up2(2)+1=0 
 EQ  
 EQ  
 EQ \b(x\s\up2(2)-1)\b(x\s\up2(2)+1)-6x\s\up2(2)+1=0 
 EQ  
 EQ  
 EQ \b(x\s\up2(4)-1)-6x\s\up2(2)+1=0 
 EQ  
 EQ x\s\up2(4)-1-6x\s\up2(2)+1=0 
 EQ  
 EQ x\s\up2(4)-6x\s\up2(2)=0 
Произведем замену переменных.

 EQ  

 EQ t=x\s\up2(2) 
 EQ  
 EQ t\s\up2(2)-6t=0 
 EQ  
 EQ t\b(t-6)=0 
Ответ вспомогательного уравнения:  EQ t=0\;t=6 
 EQ  
 EQ x\s\up2(2)=0 ; EQ  x\s\up2(2)=6 
 EQ  
Случай  EQ 1 .

 EQ x\s\up2(2)=0 
Итак,ответ этого случая:  EQ x=0 
Случай  EQ 2 .

 EQ x\s\up2(2)=6 
Итак,ответ этого случая:  EQ x=-\r(6)\;x=\r(6) 
Окончательный ответ:  EQ x=-\r(6)\;x=0\;x=\r(6) 
